JDSF DanceSport Grand Prix in Shizuoka 2011 2011/07/31
The Result of Standard Final

Solo Dance(Waltz)

TES PCS(Original) Deduction Decision Total
1 2 3
[PB] [aml MM] [cP] Loss of |Dancing|. | L.ong Dress .

g;:t‘ucr:‘ Quality of Movement to pam‘[:‘s: suit| Choreogranhy Balance Fall Delayed| E'avrly connect| out of DISC?ntI Error .tlme | pordl TES PCS Deducti Tgtal
3 Movement music ring SKill | Presentation| 19SS start | finish ion time | Nuation Discontil Violatio on points

No |Judge Base Value Base Value Base Value Coordination nuance n

A 715 7.80 8.45 6.50 600 o© 0 0 0 0 0 0 0 0 0

B 5 a5 5 6.60 7.15 8.45 6.00 550| o0 0 0 0 0 0 0 0 0 0

c - 715 7.80 7.80 6.50 600| © 0 0 0 0 0 0 0 0 0

[BV=5][GD=0] | [BV=5][GD=0] | [BV=5][GD=0]

s P [WS=0J[HPE=0] | (WS=—11iHPE=0] | [WS=0j[HPE=0] 6.05 7.80 715 6.00 600| © 0 0 0 0 0 0 0 0 0
E [WF=0IINV=0] | [WF=-05]INV=0]| [WF=0][NV=0] 7.15 7.80 7.80 5.50 550 0 0 0 0 0 0 0 0 0 0 1350 | 3557 | 0.00 49.07

F [FPE=0] [FPE=0] [FPE=0] 7.70 8.45 845 6.50 650| o0 0 0 0 0 0 0 0 0 0

G 7.70 9.10 845 6.50 650| o0 0 0 0 0 0 0 0 0 0

TS 0 0 0 0 0 0 0 0 0 0

Decision 5.00 3.50 5.00 7.15 ] 7.93 [ 8.19 | 6.30 | 600] o [ o [ o [ o [ o o] o T o1 o o

A 6.60 7.15 7.15 6.00 600 O 0 0 0 0 0 0 0 0 0

B a5 45 . 7.15 9.10 845 6.50 600| © 0 0 0 0 0 0 0 0 0

c - - 6.60 7.15 7.80 6.00 550| 0 0 0 0 0 0 0 0 0 0

o P &%‘Qﬂ%ﬁggg& [Eﬂ?g’;(f]][fé’gfg] [v[v%\i:ﬂ%ﬁgéﬂ)] 6.05 7.80 7.80 550 550| 0 0 0 0 0 0 0 0 0 0
E TWF=0]INV=0] | (WF=0.51INv=0]| [WF=0]INV=0] 7.15 8.45 9.10 6.00 600| © 0 0 0 0 0 0 0 0 o | 1200 | 3561 | 000 | 47.61

F [FPE=-05] [FPE=0] [FPE=0] 7.70 8.45 9.10 6.50 700 o 0 0 0 0 0 0 0 0 0

G 7.15 8.45 845 7.00 800| © 0 0 0 0 0 0 0 0 0

TS 0 0 0 0 0 0 0 0 0 0

Decision 350 450 4.00 6.93 | 8.06 | 832 | 6.20 | 610] 0 [ 0o [ o [ o T o ] o [ o ] o T o o

A 7.15 7.80 8.45 6.00 600] 0 0 0 0 0 0 0 0 0 0

B 6.60 7.80 845 6.00 600| © 0 0 0 0 0 [} 0 0 0

c L3 2 a3 6.60 8.45 845 6.00 600| 0 0 0 0 0 0 0 0 0 0

ns [P [ngg][fggf’g] [ngg]][ffgf’g] [wg’:(f]][fg;’g] 7.15 7.80 8.45 6.00 600 o 0 0 0 0 0 0 0 0 0
E = - = o = 7 6.60 7.80 6.50 5.50 600 o0 0 0 0 0 0 0 0 0 o | 1500 | 3531 | 0.00 50.31

F [WESGIINV=0] | WESOIINV=O] | [WF=OIINV=0] 7.15 7.80 845 6.00 650| o0 0 0 0 0 0 0 0 0 0

[FPE=0] [FPE=0] [FPE=0] : : - - -

G 7.15 8.45 845 6.50 600| © 0 0 0 0 0 0 0 0 0

TS 0 0 0 0 0 0 0 0 0 0

Decision 5.00 5.00 5.00 6.93 [ 7.93 | 8.45 | 6.00 | 6.00 0 T o T ol oT oT oTlT oTlT oT o T o

A 7.5 7.15 7.80 6.00 600 0 0 0 0 0 0 0 0 0 0

B s . . 7.15 8.45 845 6.00 650| o0 0 0 0 0 0 0 0 0 0

c 6.60 8.45 7.15 6.50 650| o0 0 0 0 0 0 0 0 0 0

e P [wgz‘(f]][ﬁ’gfg] [&Bs‘iiﬂ%ﬁgé%] [v[v%\i:ﬂ%ﬁgéﬂ)] 6.05 7.15 7.80 6.00 600| o0 0 0 0 0 0 0 0 0 0
E TWF=0JINV=0] | [wF=0JiNv=0] | [WF=0]iNV=0] 5.50 7.80 7.15 5.00 600| © 0 0 0 0 0 0 0 0 o |/ 1300 | 3441 | 000 | 47.41

F [FPE=0] [FPE=0] [FPE=0] 6.60 7.80 7.15 5.50 600| © 0 0 0 0 0 0 0 0 0

G 7.15 8.45 845 6.50 600| © 0 0 0 0 0 0 0 0 0

TS 0 0 0 0 0 0 0 0 0 0

Decision 5.00 4.00 4.00 6.71 | 793 767 | 6.00 | 610] 0 [ 0o [ o [ o T o ] o [ o ] o T o o

A 7.15 7.80 7.80 6.50 600] 0 0 0 0 0 0 0 0 0 0

B 6.60 6.50 7.15 5.00 500 o0 0 0 0 0 0 0 0 0 0

c L3 2 3 7.15 7.80 845 6.00 600| 0 0 0 0 0 0 0 0 0 0

I [ngg][fggf’g] [ngg]][ffgf’g] [Wg:(f]][ﬁ?g?g] 6.05 715 6.50 5.50 55| o0 0 0 0 0 0 0 0 0 0
E TWF=0JINV=0] | [WF=OlINv=0] | [WF=0lINV=0] 6.05 7.80 7.15 5.50 600| © 0 0 0 0 0 0 0 0 o | 1500 | 3395 | 0.00 | 4895

F - . - a - . 6.60 7.80 7.80 6.00 650| o0 0 0 0 0 0 0 0 0 0

[FPE=0] [FPE=0] [FPE=0] - : - - :

G 7.15 7.80 845 6.50 650| o0 0 0 0 0 0 0 0 0 0

TS 0 0 0 0 0 0 0 0 0 0

Decision 5.00 5.00 5.00 6.71 [ 7.67] 7.67 | 5.90 | 6.00 0 T oJT ol oT oT oTlT oTlT oT oT o0

A 7.70 8.45 9.10 6.50 650 0 0 0 0 0 0 0 0 0 0

B 7.70 9.10 9.10 6.50 700 o 0 0 0 0 0 0 0 0 0

c - L8 & 7.70 8.45 9.10 6.50 700| o 0 0 0 0 0 0 0 0 0

o | g | fveteo | B e o s eml o 0 o p o p o D o
E ‘, o _ > _ o 7.70 9.10 845 6.50 600| © 0 0 0 0 0 0 0 0 o | 1300 | 3832 | 000 | 51.32

[WF=0][NV=0] [WF=0][NV=0] [WF=0][NV=0]

F [FPE=0] TFPE=0] [FPE=0] 7.70 8.45 8.45 6.50 700 o 0 0 0 0 0 0 0 0 0

G 7.70 9.10 845 6.50 700 o 0 0 0 0 0 0 0 0 0

TS 0 0 0 0 0 0 0 0 0 0

Decision 5.00 4.00 4.00 770 ] 8.71] 8.71 ] 6.50 | 670] 0o [ o [ o [ o [ o [ o [ o [ o [ o [ o

11



